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(0000000000000 0O0O0DU0OO0O0DUODOOoUOoOoOOoUoOn)

Answer one of the following three problems. (0000000000000 0O0OO)

Problem 1 (5 points): We define an equivalence relation =2 as follows: 0000000000000
000000 =000000000

A= B A<P Band B<P A

Prove that the relation =5 is surely an equivalence relation. Precisely, you need to show that it is
reflexive, symmetric, and transitive. 0000 0000000000000 O0O0O0OOOOOCOOO
0000000 00oDoo00ooo00oooo0oooDm

Problem 2 (5 points): Each instance of the 3SAT is a propositional expression in conjunctive normal
form such that each closure contains exactly 3 literals. Even if you replace this exactly by at most,
the difficulty of the problems are not changed. Prove it. 03SATOOO0OOCNFOOOOOOOO
go0dooo0ooooooooo3000oooooooooooooo0UoooooDoogg
00000D0o000oDo0o0oDooo0oooooooDoooooDoom

Problem 3 (5 points): It is nonsense that defining the class coP because coP = P. Prove coP = P.
0000 coP=PO00O0O0O0O0 coPOOODOOO0OODOOOOcoP=PO0O0O0OOMO



